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Determining Proportionality with Tables Name:
Determineif the valuesin thetable are proportional (yes) or not (no). Answers
D x|y 1 x | v 3 | x
11 | -10 110 | -60 2 | 7 -
-10 | -9 -9 | -54 12 | 42
o | 8 8 | -48 14 | 49 &
-8 -7 -5 | -30 18 | 63
3.
4,
5.
A1 x|y 9 | x| v 6) | x| v
6.
6| 2 1| 4 40 | -10
513 2| 8 32| -8
% 4 5 | 20 24| 6 b
3|5 6|24 20| -5
8.
9.
10.
N lx]|y 8 | x| v 9 (x ]|y
11.
4| -3 2 | 12 3| -4
3| -4 3|13 4 | -3 ,
2| -5 4 | 14 51 -2 e
-1 -6 5|15 -6 | -1
10 [ x | v 1) [ x| v ) I x|y
20| -8 2120 4 | 16
15| -6 3130 51|25
10 | 4 5120 7 | 49
5| -2 7 | 28 8| 64
1-10 | 9283 75|67 [58[50] 4233|2517 |
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Determining Proportionality with Tables Name: Answer Key
Determineif the valuesin thetable are proportional (yes) or not (no). Answers
DI x|v | x | v 3 [ x| v
1. no
-11 | -10 | 1.10 -10 | -60 | 6.00 2 7 | 3.50
-10 | -9 | 1.11 -9 | -54 | 6.00 12 | 42 | 3.50 es
9| 8113 8 | -48 | 6.00 14 | 49 | 350 2 y
-8 -7 | 1.14 -5 | -30 | 6.00 18 | 63 | 3.50
3, YES
4. no
5. YES
4 I x|y S |Ix |y 6) [ x | v
6. YES
6| 2 | -3.00 1 4 | 4.00 40 | -10 | -4.00
51 3| -167 2 8 | 4.00 32| -8 | -4.00 no
4| 4| -100 5 | 20 | 4.00 24 | -6 | -4.00 .
-3 5 | -060 6 | 24 | 4.00 20 | -5 | -4.00
8. no
9, no
10. YES
N lx]|y 8 [ x|y 9 (x ]|y
11. no
-4 | -3 | 0.75 2 | 12 | 6.00 3| -4 075
-3(-4| 133 3| 13| 4.33 -4 | -3 | 1.33
12. no
2| -5] 250 4 | 14 | 3.50 51 -2 250
-1 | -6 | 6.00 51 15| 3.00 -6 | -1]| 6.00
10 [ x | v 1) [ x| v ) I x|y
20 | -8 | -2.50 2 | 20 | 10.00 4 | 16 | 4.00
15| -6 | -2.50 3 | 30 | 10.00 51 25| 5.00
10 | -4 | -2.50 5120 | 4.00 7 | 49 | 7.00
5 |-21| -250 7128 | 4.00 8 | 64 | 800
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